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American History Semester 2
Cold War Containment

I. Introduction

After WWII, Communism began to spread to other nations.  Many Eastern European countries were under control of the Soviet Union.  These countries became known as satellite nations.  The United States did not want Communism spreading.  They believed in the domino theory, which meant if a country fell to communism, the country next to it will fall to communism, and eventually this would continue and reach the United States. 
II. President Truman’s Policies of Containment

President Truman wanted to keep Communism from spreading to other countries.  As a result, Truman tried to contain, or limit the spread of Communism to other countries around the world. The way the U.S. felt they could stop communism from spreading was by helping countries that were in danger of being overthrown by Communist and helping damaged countries from WWII. 
	Containment Policies
	How did the U.S. try to contain Communism? EXPLAIN.

	Truman Doctrine

Countries, such as Greece and Turkey were in danger of being overthrown by Communists.  The U.S. gave military and economic (money) help to free countries that Communists were trying to take over.  Truman believed this was necessary to help countries who were trying to resist Communism.  Congress agreed. From 1947-1950, the U.S. sent $400 million in aid (help) to Turkey and Greece.  
	

	Marshall Plan

Western Europe was in bad shape after WWII.  The U.S. was worried that these countries would ask the USSR for help; therefore, the U.S. helped them first.  The U.S. gave money to free countries so they could rebuild homes, factories, and farms destroyed from war.  The U.S. did this to make these countries strong enough so that they would not need help from Communist countries and eventually form democratic governments.
	

	NATO (North Atlantic Treaty Organization)

In 1949, the U.S., Canada, and Western European Nations created an international military alliance.  These countries agreed that is a member of NATO was attacked by a country not part of NATO, they would have to help them out.  This is known as collective security. In response to the U.S. forming NATO, the USSR and Communist nations formed their own collective security agreement known as the Warsaw Pact.     
	

	Berlin Airlift

Germany was divided.  East Germany was controlled by Communism and Western Germany was a democracy.  Stalin, the Communist dictator of the USSR, was threatened by the U.S. in Berlin, Germany.  Stalin took control of the city and blocked off the western section that was democratic.  The U.S. helped Berlin by giving it supplies it needed by dropping goods from airplanes.  They did this so the people like the U.S. and not turn to Communism. 
	


DIRECTIONS: Fill in the template below and decide if you feel that President Truman’s decisions for containment were necessary and a good way to stop the spreading of Communism.  


During the early years of the Cold War, President Truman tried to help foreign nations from being overthrown by Communism.  Truman believed in the domino theory, which was _______________________________________

________________________________________________________.  One of Truman’s containment policies was __________________________. This contained Communism by ________________________________________
_____________________________________________________.  A second containment policy done by Truman was _____________________________.  This contained Communism by ________________________________

_____________________________________________________________.  A third containment policy done by Truman was _________________________________.  This contained Communism by ______________________

_____________________________________________________________________.  The fourth and final containment policy done by Truman was _________________________________.  This contained Communism by ____________________________________________________________________________________________.

Truman’s containment policies were necessary/not necessary (circle one) because ________________________

______________________________________________________________________________ and __________

____________________________________________________________________________.  It was good/not bad (circle one) to stop the spread of Communism because ____________________________________________
_________________________________________________________________________ and _______________

____________________________________________________________________________________________.
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